(TurnOffAlarml1_2, ())/ 120£EmpTurnOnAlarm2, 0)/120

(ConfirmAlarm, (120/t))/5 OkConﬁrmAlarm, (300/t))/50

(Sensor, SPP, CheckingFireHazard, Clockl, FireDepartment, Employee, Clock2)

((normal), (sv), (off), (off), (none), (idle), (off))
(0,0,0,0,0,0,0)

&GetS ensorValue, ())/0

((warning), (sv), (off), (off), (none), (idle), (off))
(0,0,0,0,0,0,0)

kTurnOnAlarml , 0)/0

((warning), (al), (off), (on), (none), (idle), (oft))

((warning), (al), (on), (on), (none), (act), (on))
(-50, 0, 120, -50, -50, 0, 180)

((warning), (term), (on), (on), (none), (act), (on))
(-170, 0, 0, -170, -170, -120, 60)

((warning), (a2), (on), (on), (none), (act), (on))
(-170, 0, 0, -170, -170, -120, 60)

/(EmergencyC all, ())/0

(0, 0,0,0,0,0, 0)

A\IoticesAlarm, (50/))/0 (EmpNotices Alarm, (70/t))/0

((warning), (al), (off), (on), (none), (act), (off))
(0, 0,0, 0,0, 50, 0)

((warning), (al), (off), (on), (none), (act), (off))
(0, 0,0,0,0, 70, 0)

((warning), (al), (on), (on), (none), (act), (on))
(-50, 0, 300, -50, -50, 0, 180)

kTumOnAlarm22, 0))/180

&TurnOnAlarml 0)/60

((warning), (a2), (off), (off), (none), (act), (off))
(-60, 0, 0, 0, -60, 10, -60)

kEmergencyC all, ())/0

((warning), (a2), (on), (on), (none), (act), (off))
(-230, 0, 120, -230, -230, -180, 0)

((warning), (term), (off), (off), (calledFor), (act), (off))

(-60, 0, 0, 0, 0, 10, -60)

&(EmergencyC all, ())/0

((warning), (term), (on), (on), (calledFor), (act), (on))

(-170, 0, 0, -170, 0, -120, 60)

((warning), (term), (on), (on), (calledFor), (act), (off))

(-230, 0, 120, -230, 0, -180, 0)




